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Fitting algorithm of sine wave based on interpolation of parabola
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Abstract In order to make rationally use of the original data and improve the datafitting precision of the sine waveform, the method of
the parabola and | east square sine waveform fitting is presented based on the least square method. According to the character of the col-
lected data, the parabolainterpolation subdivisionis carried out based the continuous serial points divided by some demand. According
to the change trend of data, theleast squarefitting is carried out after the parabolasubdivision. The experiment data are processed based
on the software program after emulating. The result shows that the algorithm reasonably makes use of the gathered data and enhances ef-
fectively the precision of the parameter of the sine waveform after the curvefitting. And comparing by the only least square method, the
precision of phaseisimproved from -4.555x10* to 1.367x10* for datain the actual experiment.
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